Soustava linearnich rovnic — pocetni feSeni soustavy rovnic
domaci priprava

1. Res soustavu rovnic a proved zkousku.

a) 3x —5y =11
4x —y =—8
b) 3x—y=6
2x =7y =4
C) x+y=5
—5x —3y =—6
1 2
d) EX+3—§}/
x=5—4y
e) 10x =6+ 2y
2:(x=y)=3"0-x)—y
f) 2:(x=3)=-5-y
x=3-(y—-1)-7
2
9) S x+1)=2y—6
1
5 (y—1)=9—4x
3
h) 3x -5y =6
6x — 10y = 12
i) 2x — 2y = =2
5x =5y =3
), 4-(x+y)—R2x+5y)=-7
2-(x+2y)+(x+y)=9
K) 3x +2y =6+ x+ 5y

2x —4y—4=8-2-(x—vy)




Soustava linearnich rovnic — pocetni feSeni soustavy rovnic
domaci priprava

Vysledky
1.
a) [-3;—4] L,=P, =11 L, =P, =-8
b) [2;0] L,=P, =6 L,=P, =4
c) [-4,5;9,5] L,=P, =5 L,=P,=—6

d) nema4 feSeni

3+y

e) [x;5x — 3] nebo [T’ y]

f) [_1, 3] Ll :P1 :—8 L2 :P2 :—1
9) [2;4] L,=P, =2 L,=P, =1
" [x 3x—6] b [6+5y ]

) nebo ;

) = : y

i) nema feSeni
) [-2;3] Ly =P =-7 L,=P,=9

k) [x; 2x3—6] nebo [6+3y ; y]




